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I 17 mwn: maximum NN in one *53 — 60 MNIVY
a  If: he obligates himself to bring a nnn of up to 60 MWy — brings in one ’53
b If: he obligates himself to bring (even) 61 — must bring 60 in one "3 and 1 in another
i Reason: the largest 0201 nman ever brought — 1t day m»w, if it falls on naw —is 61; 1n’ should be a bit less
1 w71 that's irrelevant — they aren’t mixed (different ratios of oil to flour between v%&-n»8 and nw2ad)
ii ~ Rather: 60 can be easily mixed in one 93, more than 60 cannot
1 Challenge: does 1 7wy make such a difference?
2 Answer: that's how the system works — e.g. one can ablute in 40 kv, but a smidgen less is invalid
ili  Am7772 associated p"n with nmn ';
1 w77 adds v. 1 -1n%5 means it must be able to be mixed
(a) (note: he adds nx¥»13 (not a sesame seed less!) for R"v, 3x3 (not a thread less!) for 1T NRMY
(b) challenge: n% 1 is dispensible (above, 2:3)
(i) answer (871 "): as long as N1 is possible, not 29yn; if impossible, that is 2991
2 related story:5"21 reported that one of ¥27’s mules died and onan measured a n’y»a3 of o7
(a) presumably: for issue of m>11 07 — that would be xnon
(b) challenge (81023 72 pry? 77): RN 12 YOI "N YW1 1 testified that mYa) 0T is Nv
(i) furthermore: 931 '51 would walk through blood of mules (killed for lions by Romans) and o’nan al-
lowed them to come in to WTpn
(ii) note: 9”21 wasn’t able to answer, as he was so poor as to rely on daily bread (v. 2)
(c) ruling: we rely on nkwi1 i’ "1 who ruled like w3, in one of their lenient rulings, that 770 M%) o7
(i) and: even n"a, who are stringent, require a 1’21 since, if coagulated, it would be a 13
II 27 mwn: acceptable amounts of nnin for purposes of 0™
a  Unacceptable: 1, 2 or 5 (no model in 0’301 nnin)
b Acceptable: 3, 4, 6 and up
III Discussion: 0’av1% »ap (i.e. if commitment to a set number allows for splitting —yap px; or must be brought as one —yap v)
a  Point of difference: if he committed to 5;
i If yap px:- he may bring 4 (per %’& »>01) and fifth goes to nam
ii  But if y3p v~ he is obligated to bring 5, which he cannot do — so he must add one and bring 6
b Proposed answer (»aX): n:y ©9pw — 6 collection —boxes for nam, for surplus of nrovn etc. -
i Butif: vap PR, there should be one box for surplus n’0)
ii  Block: these others are infrequent and go for 11ax nam;
1 But: o301 are common and someone is likely to come along who needs an extra 1% or two
¢ Proposed answer (X¥37): v. 3 teaches that one may donate (3 1% for) n»dv); if he wants to add, he may, but not any less
i “adding”: must mean 5, since 4, 6 are no worse than 3 (each has pre-set role in 501 nmn) >>o01Y Yap Pr
ii ~ Challenge (»wx "7): our mwn disallows 2 and 5; we assume that just as 2 is totally invalid, so is 5
1 Rejection: 2 is totally invalid; 5 is invalid n%nna% (as a 9m), but if brought, is accepted as 4+1
d  Analysis (»3K): if we rule that D»2v1% »ap pR, until 10 is reasonble; but if he commits to 11, how do we understand it?
i Lemmal: he intended to offer for 2 bulls (12) and needs another one OR
ii ~ Lemma2: he intended 2 rams and one lamb (11) — and needs no more - yp’n
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IV n mwn: dispute v"/v™ if oil can be voluntarily donated
a  y”r wine may be donated, not oil; as wine is offered as an obligation independently; “nan”-oil is always in flour
b  v”rjust as wine, which comes as an obligation, may also be donated, similarly oil may be donated
i ~27 infer from both of them that a person may volunteer to bring 0’301 nnin as often as he likes
1 Challenge: this is obvious
2 Justification: R"10 the nmn provided for 5 nam1 mmin and no more — 5"np — that only applies if he doesn’t ex-
plicate; if he does, it may follow his 1m
¢ Minimal donation: two may not offer 1 17wy together, but they may share o'n%w1 0%, even a single bird
i Source:is not v. 4 21pn ("N — in the singular), for v. 5 uses 2"’ for N9y
1  And: reason for partnership in n%1 cannot be due to v. 6 — n2XM%YY; as also states D3 MNINY
ii ~ Rather: source is v. 4 — "w9” indicating a single person bringing a nnin
1 Support: k™2 cites »a7 invoking v. 7 which allows partnership in all nap -
(a) But: nmn is singled out by virtue of "way”
2 Tangential homilies of pny’ .
(a) wax'nregards offering of the poor man (nnin) as if he brought his very life to 'n
(b) Frying:’n made nmn important, in spite of its relative insignificance, to make the poor man who can
only bring a nnin feel as if he is contributing something of great significance
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